AST=
W FHBETHLFOD

=3L0IXtel

2N -3 - c2(3H) - NEME - HES A oH pjEsifon =&
NS/} 42,250,380 42,095,380 155,000
= 12,791,280 12,591,280 200,000
= 11,899,000 11,899,000 0
[ 17,560, 100 17,605, 100 A45,000
BIENEZXHUFOHOQ =X MM RS (ZEY 41,962,260 41,807,260 155,000
JHEH/ RIS Al
= 12,791,280 12,591,280 200,000
= 11,899,000 11,899,000 0
[ 17,271,980 17,316,980 245,000
ZZCIXel 1,000,460 806,460 194,000
= 200,000 0 200,000
[ 800,460 806,460 26,000
ZICIXIALY 800, 460 806,460 26,000
301 LEIBAS 14,000 20,000 26,000
07 BI2tol=204H| 14,000 20,000 26,000
220 XIS RAFI ZAGH 21 o 2
23 14,000,000 14,000 20,000 26,000
2EEHCIXOIAIE ALY 200,000 0 200,000
= 200,000 0 200,000
308 AXIESHHSOIH 200,000 0 200,000
= 200,000 0 200,000
01 MXSHIANSES 200,000 0 200,000
O2ESACI XAl 200,000 0 200,000
= 200,000 0 200,000
A=H A A G 291,940 323,940 A32,000
HAEHPAAHSH 22,940 18,940 4,000
202 OfH] 10,000 6,000 4,000
01 2oy 10,000 6,000 4,000
OH=22 =X 0| ZA 10,000,000 10,000 6,000 4,000
AEAH™ A A 65,000 71,000 26,000
307 QIzto|A 65,000 71,000 26,000
02 SIHFAER 55,000 61,000 26,000
OA=0A 23X 55,000,000 55,000 61,000 26,000
HAESHAEAEH 204,000 234,000 A30,000
308 XXISHSOIA 204,000 234,000 30,000
08 JIEtRE 2 204,000 234,000 A30,000
OA=SHEIIZXNSEHIALY
ZE 204,000,000 204,000 234,000 30,000
SHOXEHA™ A 711,392 718,392 A7,000
= 94,000 94,000 0
[= 617,392 624,392 A7,000
=AU =2t D LHA S 32,300 39,300 A7,000
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